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S QIASAA 1,671,581 945,682 725,899
= 356,288 356,288 0
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Al 1,311,920 586,021 725,899
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< 3,373 3,373 0
Al 922,236 196,496 725,740
EXNQRE MHIA 235t 1,212,895 487,155 725,740
= 287,286 287,286 0
S 3,373 3,373 0
Al 922,236 196,496 725,740
KNETHEZAAMY FE(XNE2F) 740,740 15,000 725,740
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Jl 2,721,689 2,249,745 471,944
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= 81,320 89,720 A 8,400
Al 121,981 134,581 A 12,600
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= 187,490 182,553 4,937
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01 A& HI 250,000 0 250,000
OELEZ &2 XNotXx NsXE AIAH”
AX(HAEEEAME) 250,000 0 250,000
= 250,000 0 250,000
Ot R Fx2l8 XotktE NHsSIHE AIAE AX 250,000 0 250,000
£ 250,000 0 250,000
401 Al HIZ 201 8] 250,000 0 250,000
£ 250,000 0 250,000
01 A€ HI 250,000 0 250,000
Ootgd &==2g XNotX= NsXE AIAH-
AX(HALYIAE) 250,000 0 250,000
£ 250,000 0 250,000
C2 e - =2H 8,790,000 5,900,000 2,890,000
Al 8,490,000 5,900,000 2,590,000




2N

Hu: coauag
Sl T2 ONA - BE (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
= 300,000 0 300,000
DY A U FUF 300,000 100,000 200,000
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